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cost information of Herb Corp.:

‘ Simple L3 Pack Complex L7 Pack Total
ost allocated using direct labor-hours  $18,750 $6,250 $25,000
ost allocated using setup-hours $13,200 $11,800 $25,000

.

Ugloade






ariable manufacturing overhead 15

Fixed manufacturing overhead 30

- fotal manufacturing costs $105

The plant has capacity for 3,000 tables and is considering expanding production to 3,000 tables,
hat is the total cost of producing 3,000 tables?
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: Bensen Golf Company sells a special putter for $20 each. In March, it sold 28,000 putters while

~ manufacturing 30,000. There was no beginning inventory on March 1. Production information for ‘
March was: ‘

Fixed selling and administrative costs $ 40,000

Fixed manufacturing overhead 132,000

Direct materials cost per unit 2

Direct labor cost per unit 24

Variable manufacturing overhead per unit - |
Variable selling expenses per unit | 2

Compute the dollar value of ending inventory under absorption costing
(DO NOT USE COMMAS OR ANY SYMBOLS)
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The contribution-margin format is used for
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the operating incomes between obsdfpﬂo‘n cosﬂr{g and ve i £

variable cost per unit is more than fixed cost per unit

sales decreased during the period
absorption costing operating income exceeds variable costing operating inco

there is a favorable production-volume variance
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mpany provides the following ABC costing information:

Total Costs  Activity-cost drivers

$384,000 8,000 hours
$36,000 6,000 gallons
Invoices $180,000 7.500 invoices

Total costs $600,000

.

The above activities used by their three departments are:

| De pLit“:_:ent Bush Department Plowing
D_em"" rtment
“ Labor 2,500 hours 1,400 hours 4,100 hours
Gas 1,800 gallons 1,000 gallons 3,200 gallons
Invoices 1,300 invoices 300 invoices 5,900 invoices

How much of invoice cost will be assigned to the Bush Department?
A
N “‘ ‘Select one:

I:f‘ Ak



— . Call us : +97(0/2)-2-2982000 & E-mail : help@ritaj.ps

LTime left 1:36:19 I ! : ‘f
When comparing the operating incomes between absorption costing and variable costing, and .
ending finished inventory exceeds beginning finished inventory, it may be assumed that

Select one:

O A. variable cost per unit is more than fixed cost per unit
O B. sales decreased during the period

- T ® C. absorption costing operating income exceeds variable costing operating income

O D. there is a favorable production-volume variance

Clear my choice

Under the FIFO method, the units accounted for in the physical units schedule include the beginning
work in process units and the units

O a. started into production.

ﬁ ,
) () b, started and completed.
'S-HUB.com

g 3 'r%(c,\ started into production plus the ending work in process units.

Oid.

i

started and completed plus the ending work in process units.

LA S NCEAN &



o mulliple cost pools and assigns the cosl pools 1o products using cost d




lirne |afl 1236239

$75.000

- Manufacturing Overhead 18.000
} Finished Goods inventory, March | 5000
Finished Goads Inventory, March 31 2000
Work-in-Process inventory, March | Y80
Work-in-Frocess iInventory, March 31 1140
ENeect Materals Used 25,400

What i the amoun! of direc! labor incurred by Diong
Inc. in March?

(DO NOT USE COMMAS OR ANY SYMBOLS)
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Wood used to manufacture chairs is considered a direct variable cost.

Select one:
® True

O False

STUDENTS-HUB.com Uploaded By: anonymous

Jump 10...
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Lisa Manufacturing reported the following:

Revenue

Beginning inventory of direct materials, January 1, 2015
Purchases of direct materials

Ending inventory of direct materials, December 31, 2015
Direct manufacturing labor

Indirect manufacturing costs

Beginning inventory of finished goods, January 1, 2015
Cost of goods manufactured

Ending inventory of finished goods, December 31, 2015

Operating costs

What is Lisa's operating income?

DR B3E ESMMAS OR ANY SYMBOLS)

Answer,

Time left 1:29:33

$450,000
20,000
156,000
18,000
21,000
42,000
40,000
114,000
45,000
150.000
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 manufactuing company, indirect manufacturing costs may be includedin ___ ;_;’_';J
@ direct materials inventory, work-in-process inventory, and finished goods Invcniii'  ace
1L - 1

\ ) - L.
0 -
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- e

.b both work-in-process inventory and finished goods inventory

)4 direct materials lnventory"only
‘ chandise inventory only

l
gr my choice
L_JB.com
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ct materials: $20

ctlabor: $10

‘ariable manufacturing overhead: $4

Jriable selling and administrative expenses: $8

ad cosfs per year:

xed manufacturing overhead: $180,000
ed selling and administrative expenses: $600,000




f monufocturing overhecd

nicls cost per unit

nufocturing overhead per unit

penses ! Uni‘ .
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Ve manufacma’ng overhead: $4
,:,{ able selling and administrative expenses: $8

.'
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o costs per year:

—

s F?xed manufacturing overhead: $180,000
s Fixed selling and administrative expenses:
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mg 'he veqar 201 &, Jane & Qmpany man. ifaciured
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1 *‘
foll | ’ wir L ng hfofmmlon & avallable for completed
 No. 422: Direct materiols, $20,000; dirsct labor,
& b* 0 manufacturing overhead allocated, §15.000;
units produced. 5,000 units: units sold, 4,000 units. The
o ‘I'coicft-Of the finkhed goods on hand from this job &

O a $12000

OB ¢1000.

STUDENTS-HUB.com Uploaded By: anonymous
o c. $52000
L e
O d. $45.000



50 basis of the difference between variable costing and absorption costing is how fixed
- manufacturing costs are accounted for.

Select one:
® True

O False

Iwo or more support departments whose costs are being dllocated can also provide support fo

each other and as well as to operafing departments,
f ‘.
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D A. all provided answers are correc!

'O B. itk conceptually the most precise method
-0 C. i resulls in allocating only the support cosls
wsed by operating departments

® D. it doss not recognize the total services that
support departments provide 1o each other

The physical units in a depariment are another name
STUDENTS-HUB.com
for the equtvolé.t units of production.
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The predetermined overhead rate is computed using

1 ;
O a. estimated overhead costs
O b. dllocated overhead costs
Dc

aciual overhead costs.

® d. predetermined operating costs

Clearmy choice
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and sells a decorative pillow for $98.00 per



i A ‘ I T | R T
produces and sells a decorative pillow for $98.00 per

Variable manufacturing

o $23.00 per unit
Variable marketing $6.00 per unit
costs
Fixed !
manufacturing costs i A
glcl!;r;:ztrohve expenses, $21.00 per unit
Ending inventories:

Direct materials -0-

WIP -0-

Finished goods 500 units

What is the contribution margin using variable costing?

 Select one:
A. $123,500



~ Lisa Manufacturing reported the following:

Revenue

Beginning inventory of direct materials, January 1, 2015

Purchases of direct materials

Ending inventory of direct materials, December 31, 2015

Direct manufacturing labor

Indirect manufacturing costs

Beginning inventory of finished goods, January 1,2015
Cost of goods manufactured

Ending inventory of finished goods, December 31, 2015

Operating costs

SHopihisis gBUHING ncome*
(DO NOT USE COMMAS OR ANY SYMBOLS)

Answer: 1921000

Time left 1:11:28

$450,000
20,000
156,000
18,000
21,000
42,000
40,000
114,000
45,000
150,000
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¢ ’rOry, $180,000; cost of goods manufactured, $516,000; beginning finished goo
$252 000; ending work in process inventory, $220,000; and ending finished gooc
Stevens Manufacturing Company's cost of goods sold for the year is







predetermined overhead rate is 70%& :
sts are d of which $




a1

Variable manufacturing

et $22.00 per unit
Variable marketin
g $3.90 per unit
costs
Fixed 3
. $14 per unit
manufacturing
produced
costs
Administrative expenses, .
all fixed $19.50 per unit produced
Ending inventories:
Direct materials -0-
WIP -0-

Finished goods 400 units

What is the operating income using variable costing?

STUDENTS-HUB.com
Select one:

® A. $56,080

) B. $69.480
O C. $104,580

O D, $129,780

~ Alfred’s Inc. preduces and sells a decorative plllOW for $98 00 per uni’r In iheﬁrsimonf
2,200 units were produced and 1,800 units were sold. Actual fixed costs are the same &
budgeted for the month. Other information for the month includes:

Time left 1'0455
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RELAX Corporation manufactures two models of office chairs, a standard and a deluxe model. The
following activity and cost information has been compiled:

b’gg_@_i INumber of ' Setups INumber of  Components \Nu'mber of Direct Labor,
Hours

Standard 12 8 255

Deluxe 28 12 245

Overhead costs $52,000 $78,000

Number of setups and number of components are identified as activity-cost drivers for overhead.
Assuming an activity-based costing system is used, what is the total amount of overnead costs
assigned to the deluxe model?

e

O Q. e84 400

STU %I-EN@%’Ijb@.com

O c. $82,600

O d. $80,800
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